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NEW QUESTION 1
What are two goals of cloud security automation?(Choose two)
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A. to centrally manage security policies

B. to transition all security functions to cloud platforms
C. to automate responses to detected security threats
D. to implement all security functions in hardware

Answer: AC

NEW QUESTION 2

Which statement is correct when deploying services inside containers?

A. Containers can always be deployed for free

B. Containers use fewer resources than VMs

C. Services have dedicated processor and memory resources on each server

D. Service must not be deployed using the same operating system

Answer: B

NEW QUESTION 3

You are required to set up zero-day malware dedication for your private cloud without sending files off site for analysis.

What will accomplish this task?

A.JATP
B. IDP
C.UTM

D. Sky ATP

Answer: D

NEW QUESTION 4

What are two roles of sandboxing in Sky ATP? (choose two)
A. To test the operation of security rules

B. To analyze the behavior of potential security threats

C. To validate the operation of third-party components

D. To store infected files for further analysis

Answer: BD

NEW QUESTION 5

You are using the NorthStar Controller to manage your WAN. You are required to remove a node from the network for maintenance purposes. You want to

compute and provision alternate forwarding paths so that traffic is re-touted around the node being taken offline for maintenance.

Which NorthStar Controller feature would be used in this scenario?
A. path diversity

B. maintenance mode

C. shared risk link groups

D. node diversity

Answer: B

NEW QUESTION 6

Juniper Networks supports which two alternatives to layer 2 loop prevention protocols, such as STP, in an underlay network? (Choose two)

A. MC-LAG
B. BGP

C. LACP
D. TRILL

Answer: AC

NEW QUESTION 7
Which two statements are true about cSRX firewalls? (Choose two.)

A. The host OS can be different from the guest OS
B. The host OS and image OS must match
C. The cSRX does not use static CPU reservations
D. The cSRX uses static CPU reservations

Answer: AD
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NEW QUESTION 8
Which open source management framework does VMware NSX use to manage VXLANSs on Junos device?

A. OVSDB

B. Contrail networking
C. OpenFlow

D. OpenConfig

Answer: A

NEW QUESTION 9
You must set up multiple collection points across your network to look for malware and rogue SSH attempts. What will allow you to accomplish this task?

A. AppFormix
B. NorthStar
C. networking
D. JATP

Answer: D

NEW QUESTION 10
What are two objectives of SDN?(choose two)

A. centralization of control plane

B. physical separation of the control plane from the data plane
C. centralization of the forwarding plane

D. centralization of the services plane

Answer: AB

NEW QUESTION 10
Which two components are part of the AppFormix architecture? (Choose two)

A. Policy controller
B. Compute node
C. SDN controller
D. Data platform

Answer: AD

NEW QUESTION 14
You want to secure sensitive data and detect malware in your network. Which component would be used to satisfy this requirement?

A. AppFormix

B. Sky ATP

C. Network director
D. Contrail cloud

Answer: C

NEW QUESTION 16
What are two reasons to use a vMX over a physical MX Series devices in your deployment? (Choose two)

A. A vMX provides more routing features.
B. A vMX accelerates adding new services
C. AvMX has a lower barrier of entry

D. A vMX increases analytic capabilities

Answer: BC

NEW QUESTION 20
Which protocol is used by the NorthStar Controller to discover existing tunnels in a service provider or large enterprise WAN?

A. SNMP
B. PCEP
C. REST
D. NETCONF

Answer: BD

NEW QUESTION 22
What are two concepts of private cloud? (choose two)

A. Resources are dedicated to your organization
B. Resources are accessed through a private connection
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C. Non-critical resources are located outside of your organization
D. Resources are not secured by firewalls

Answer: AB

NEW QUESTION 23
What are two characteristics of Policy Enforcer? (Choose two)

A. Policy Enforcer has its own standalone GUI

B. Policy Enforcer consolidated threat information from multiple sources
C. Policy Enforcer provides telemetry data for a collector device

D. Policy Enforcer is integrated with Security Director

Answer: BD

NEW QUESTION 27
Which CSO component enables the monitoring of the CSO system to provide real-time data about the Cloud CPE solution?

A. Administration Portal

B. AppFormix

C. Designer Tools

D. Customer Portal

E. Service and Infrastructure Monitor

Answer: E

NEW QUESTION 29
Which two statements are correct about the NFV framework?(Choose two)

A. The NFV framework is defined by ANSI

B. The NFV framework is defined by ETSI

C. The NFV framework enables horizontally scalable deployments of services
D. A spine and leaf implementation is an example of the NFV framework

Answer: BC

NEW QUESTION 32
Which two statements are true regarding private cloud services? (Choose two.)

A. A private cloud must apply encryption to all stored data

B. A private cloud has dedicated resources for individual customers
C. A private cloud can be deployed in a service provider network

D. A private cloud cannot connect to a public cloud

Answer: BC

NEW QUESTION 36

AppFormix has been deployed in your data center using the Juniper Telemetry Interface(JTI) native sensors. However, the underlay devices have not yet been set
up to work with the JTI native sensors.

Which action is required for the JTI native sensors to work properly?

A. Install the AppFormix network agent on the underlay devices
B. Enable NETCONF over SSH on the underlay devices

C. Enable SSH on the underlay devices

D. Enable GPB messaging on the underlay devices

Answer: D

NEW QUESTION 37
Which two statements are true about an SDN controller?(Choose two.)

A. An SDN controller automates repetitive tasks in a network

B. An SDN controller regulates traffic transmission rates in a network
C. An SDN controller centralizes control and configuration of a network
D. An SDN controller stores and manages software mages

Answer: AC

NEW QUESTION 40
What are two technologies that a vMX's control plane uses to communicate with the forwarding plane on the same servers?(Choose two.) ****

A. 802.1Q
B. Virtio

C. SR-IOV
D. OVvSDB
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Answer: BC

NEW QUESTION 45
A customer want to deploy a website that can scale as needed
Which type of services should the customer purchase in this scenario?

A. DBaaS
B. SaaS

C. BGPaaS
D. FWaaS

Answer: B

NEW QUESTION 48
Which Juniper product provides insight into the underlay and overly network at the same time?

A. Security director

B. Juniper extension Toolkit
C. Edge services director
D. Contrail Analytics

Answer: D

NEW QUESTION 50
You are the administrator of an MPLS WAN. Intermittent WAN hardware failures are causing customer traffic to route over newly
computed forwarding paths that do not satisfy service level agreements Which Juniper Networks solution would be used to analyze this problem?
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A. Network Director
B. AppFormix

C. NorthStar Planner
D. Contrail

Answer: C

NEW QUESTION 54
Which juniper product provides insight into the underlay and overlay network at the same time?

*kkkkkkkkkkkk

A. Security Director

B. AppFormix

C. Edge Services Director
D. Juniper Extension Toolkit
E. Contrail Analysitcs

Answer: B

NEW QUESTION 56
Which protocol is used to transport monitoring data in Juniper's open and extensible data model?

A. TCP
B. SNMP
C. SOAP
D. UDP

Answer: D

NEW QUESTION 58
What are two examples of public cloud providers? (Choose two.)

A. eBay

B. Netflix

C. Microsoft Azure

D. Amazon Web Services

Answer: CD

NEW QUESTION 62
Which product is used to perform capacity planning of MPLS WANs?

A. Contrail Cloud

B. NorthStar Planner

C. Cloud Service Orchestration
D. VMware NSX
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Answer: B

NEW QUESTION 64
Which statement is true about Junos Space security director?

A. Security director is a standalone management platform
B. Security director is a centralized security policy manager
C. Security director is an SDN controller

D. Security director is a network orchestrator

Answer: B

NEW QUESTION 69
You are using service chains.
In this scenario, which component launches the NFV VM?

A. vRouter

B. NorthStar Controller
C. compute node

D. orchestrator

Answer: C

NEW QUESTION 70
Which statement is true about VNFs?

A. VNFs are always physical devices

B. VNFs are virtual devices

C. VNFs are only used in service provider clouds
D. VNFs are only used in data centers

Answer: B

NEW QUESTION 74
Which cloud architecture provides developers a framework on which to develop and customize applications?

A. DBaaS
B. PaaS
C. laaS
D. FWaaS

Answer: B

NEW QUESTION 78
Which two statements describe cloud CPE?(Choose two.)

A. Cloud CPE require heavy investment in vendor-specific hardware

B. Cloud CPE encourages administrators to use all-in-one appliances

C. Cloud CPE allows multivendor, open support of software-based functions
D. Cloud CPE eliminates the need for investing in expensive hardware

Answer: BD

NEW QUESTION 81

Which organization is responsible for defining cloud computing?
A. IEEE

B. ANSI

C. NIST

D. IANA

Answer: C

NEW QUESTION 84

Which interface is used by applications, orchestration system, and other types of business systems to communicate with as SDN controller?

A. controller interface
B. northbound interface
C. east-west interface
D. southbound interface

Answer: B

NEW QUESTION 87
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